i)Y e liad) 840 (1o ilad) J2a Jrasd a3

[=] 35 [=]
[=].X"

calbxio) i) ze (g 598 JSup!) B8y daz) po dlin] dasaxi J>

das L

.

Calad) & ol 65 o) Joaid] = psle a0 Luald) Codll 6= ans) L) zoliad] ¢ maliall 2850

17:44:20 2024-11-25 :zalial] 2850 e Calall 38La) £,

opsall |l bia¥) | Aging ol Sae | oty colale | (gl zxgie egle

o Euzsl.‘mﬂ a0
e LYl

gyl ) e M) i) el ali (e a)gall

oYl Joasd) (46 pole Baladly (ualud) Ciall vy lalad) (ro oy ol

o) zagaly de giie iyl clibrial Alinly by jai 1
S il] Lol zgio s)590) JSagl) 385 iz z35e3 I 2
S ) jaliss) zgie (o) 90 Sl 385 Lzl ziges 3

2023-2024 pladl (8 98] i)z zgie (lai) Obrio¥) din] mumeas Juda 4



https://t.me/uaecourse
https://almanahj.com/ae/id=29419
https://almanahj.com/ae/id=29419
https://almanahj.com/ae/id=29419
https://almanahj.com/ae/6science1/keys
https://almanahj.com/ae/6science1
https://almanahj.com/ae/6science
https://almanahj.com/ae/6
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-11-25
https://almanahj.com/ae/6science1/sheets
https://almanahj.com/ae/6science1/slides
https://almanahj.com/ae/6science1/keys
https://almanahj.com/ae/6science1/exams
https://almanahj.com/ae/6science1/quizzes
https://almanahj.com/ae/6science1/book
https://almanahj.com/ae/6science1/guide
https://almanahj.com/ae/6science1/files
https://almanahj.com/ae/6science1/files
https://almanahj.com/ae/6science1/final
https://almanahj.com/ae/6science1/notes
https://almanahj.com/ae/6science1/reports
https://almanahj.com/ae/6science1/english
https://almanahj.com/ae/6science1
https://almanahj.com/ae/6science1
https://almanahj.com/ae/teacher_id=2004
https://almanahj.com/ae/network6
https://t.me/almanahj_bot
https://www.facebook.com/groups/grade6uae
https://www.facebook.com/grade6uae
https://almanahj.com/s/fd889d
https://t.me/almanahj_bot
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://bit.ly/3sgt6Nz
https://bit.ly/3d3G9vw
https://bit.ly/3rgBjjD
https://bit.ly/2QCjuii
https://t.me/uaecourse
https://almanahj.com/ae/6science1
https://almanahj.com/ae/id=29384
https://almanahj.com/ae/id=29373
https://almanahj.com/ae/id=29372
https://almanahj.com/ae/id=29315

Jodl Jsaid] (48 pale Baladly (ualud) Caad) ey lalad] Cpo 2y jall

2023-2024 plal (g S il) 7313 zigie (silgil] Olmie¥] alin] 5



https://almanahj.com/ae/6science1
https://almanahj.com/ae/id=29314
http://www.tcpdf.org

—all 2 glad) 3ala A daal ya
Js¥ (! JJJ\ Juatl) —alad) ualead)

gal;.ihl\ L £l +dalnal) e g dlas)
3\51151\3 @m\ 4alall Al ;\MJJA
20252024 (ol 2 plal



Academic Year 2024/2025
eyl plall
Term 1
[
Subject Science [ Bridge
Baladl Ty fagdall
Grade 6
wiall
Stream General
Sl Alal
MNumber of MCQ 15
s gaigall AlY s
Marks of MCQ Eu
A pigall Al dya
Number of FRQ, 5
dulliall dlt S sae
i Mar!cs per FRQ, 40
AL AA iyt
Type of All Questions Paper Part [ dJlis alisl
AWwH) S gy MCQs / & gids0 ddissd
Maximum Overall Grade 100
20l Squaill Ay
Exam Duration - OlsLa¥l Bs 150 minutes
Mode of Implementation - Gudaill dalk SwiftAssess & Paper-Based
Calculator Allowed
i:hullﬁ-n als i:-_,.l.n.h

AN ¢ Al el Al A jaa




Crusatien™

g

Laanisg Dutiome) Perlorsance Criteda®™

LT T ]

L VEriin

e e e D I o

L gln fulall 3

Example/Exavcise

Page

il

Lo

By il W Aty

BACD - s g gall Tt

i | ol il oheai ) gy o | 5 o 3 JEEN o 2N | B Ta s 14
?‘ 1 | blnal gty Sy | ot oy 2l LS | 13 o84 o 20 JREW o RN i | 44 45, 86
i'- ¥ | | 1 Pl 45 o3 JRAT 5o AR i | B 85, B6
E ! | | L I e | 147 118
5 ey el a8 Bl BN i 4 [ 153, 153
] i 802 S N i 2 [ 154, 155
L | sl Yo ENTLN ot Ay i A 3 | EEN i | S Bl
7 T e IF " s 5 A i 16031

SR el e [ U] Bl el e

| iy ot

30, 34, 32,33

sl Cen Bpgee gl Flpdl | pasots

34,35

MR 1 Wi i by gl (g

iy 25

ol g

43

et Sphms 2 paninl e

skl prgimin Zebaphen o omed e sty

13 | Al SBCH Dy o al Aty (L Lot pigl 4 | 23 .31 JEEN s RN | &5 &b £7: BE: 69
a4 | I Pl b e skl | i el Inphomally pimall ol s, (o iy | 2, e | &7
is | gt o i k. mnint] lgianm 4 (= e [N | 3y | 949, 108 102, 103

BN gy g o A (gl b 5 U g B2

820 134, 133134

ey e I MR

R 1 i il ooy

130: 132 133 134 135 135

Rolymlly i o Ummeal ol ki o

154, 155

wlgfima B depfaall i ol (o petipt Cphlen el

161

va G Tarasd erdds n tha aclual s

. |qumunm s appe an

o | N Tl e vt D s
- T3 in o o D L T T L RS P

I | TUTS-JUIE Sy S LG | Rl el ol fon g S8 e _':-h':_x LT e e ey g TR
wma | tedanls Actheily B0k 15 @ viery uil ol boad 10 prapars sbodnls Tor th pager gart dxam quastons.

S (oo il ] Gl ppatimis] i P Al A [pn Al B b rmg|

AN ¢ Al el Al A jaa




¥ daa gl

] o sl sl 5 aBaally fuially il o8 Adaall desall J) L0530 Aaodlally dsall ey o plall cloaBidl Silglas plisiuly ) o) Aoy o] Al Al 5 o8 «3 JELNI Sl i 67 106 11
alall iy
waill oo baually Ayl de gazmall dpdony Jitually aalill picall dpdonds o Jamgl @llall gl fuogs 5l Solarliiiadly lgreanly i Jom dlomy 5 Al Al LS e 5¢8: 0
ool (8l d3lota « HLLTS) q:u_a-_w-..:.:u“g_,f.i__-. Jom ¢ S 16 21

AN ¢ Al el Al A jaa 4



foing 38l 3y a3 (8 e () Aol G (Ungl) Alall 4] Jom 55 53 iYW -3

0l Jal daagl) sl 3 ade yiall 5 (53 )8 W Cagn Laaal L -4

”

rah A 2891 oe Gaal 8 SO ) |30

() dad sy aT) dlla L

Gla Al dipphally 4w OF pasaddl CiS Aiy eladall 4y e lll Ja) daa GLESH e
e Welgial any i gl ) lad Cum () duasagll Sl (Uag) Alall (i .
dyasagl Sl ( die IS P A W Cagen sk (amnly )2 B0k o i agin
Jarly 8 2l g oo 05 (b Sl 3 G0 Sy of (dagl) 8 Ayl Lo
O e I daydll o aiag b egale dslaa (fiaina (il (yingyd aef ol
Gapall o duyadll caplily cacagll B (ha e g0 A0 daglly caaingll 3Ll
DA g (o (a3 oS5 o A0t

todlel pall (A dhagsaall Lyl (3 Jiadl pidly gl il L -1
3 ) cm‘ﬁgﬁéﬁJ ...... Gl sad)

......... M‘Sm‘ iadl il

AAIAY 5 Al dalal Al 4w jaa 5



2 ds )] degemnally daciall degens sas> .4
G0 las Legs slelal) sy o JLJ) g, led)
glaall ¥ (o g, GlS 13) Lo 1o S
Oeeadaidll (o degenmed (Sl alass
Lal,a) geesdazod) (o (5,5 degene Galasg
A gal Al dnasd) b LS oSl Jie sas

Sl G e Qg\gﬂaﬂ‘;ﬁ\;\sw\@ -ddalal) de gasall
Gaspad) Ao (5 gind Aldy Al ds ganall

AAIAY 5 Al dalal Al 4w jaa



5300 iie i) Ja ; cila rzlasuy)
L A5 Al

i ) L) dadasi) ol gasd 5
_I_j__.'i_H l:,-aJ—'l-” JL....i.':l'.‘._...J‘f1 -;1'5J:L:- L__J_..|.|.|_....1:| .L__PJ\J:\

Al dul s o) as) B aslasau) @

BYS- R et O EW
O el & a8 e
5300 OIS uldl) jas
ddu

2 SN Bl
43u 4000 A el
8 Ji Y el e Gl
43w 4000

JEd il -Adaa Sl
JL Y e o) ) Laldl)
41w 4000 &

AAIAY 5 Al dalal Al 4w jaa




arle Hoiall @ i) 5,5 rla) sl TG .6
el U ) aengd) slal)l

c@ﬂ\d@)@é&h @M\Mﬂ\ﬁﬂ‘uﬁmg&g
L9 (ula (g O Gila Ad) Gl g

AAIAY 5 Al dalal Al 4w jaa 8



What we call the factor a scientist ¢o,ils Ak ks i8]l alladl o (o2l Jalad) (pana 13la

changes to observe its effects?
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=1
There is a puddle of water behind Ahmed's house, and he decides Bba Aaye il oS wijas of B9 caaal J3ie CAlA sla ASy sa g

to find out how the temperature of the water changes depending on A Jgaadl 2 Cilagleal) 2aal fas lglasl lad elall
its depth. Ahmed collected the data in the table below. Which of the = tdyail sdd (A Jilual)l juilall dawills faswa o aad A Laa “gi

following is not true for the independent variable in this experiment?

Temperature 3 Temperature 2 | Temperature ] l Depth(rn} Experiment number
3 Bl s 2ydan | TEpaiae | () g i )
23 26 27 1 1
22 20 23 3 2
12 13 15 > 3
11 9 10 7 4 |
6 8 7 9 5
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Scientific investigation takes place over years and years. Which of the o Laa @i gy Slpi e S aled) Sl ol

following is the right order of the scientific investigation? falad) Call raaall il ga
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What are the scientific inquiry steps that was — ‘.,:.It ‘.,.n.h.ﬂ Dl Clghad 7 La
A Ay Jale sal B Lgaladind

used in one part of the case study?
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When evaluating materials, it is important to consider the LkEey) fue ,_,: Agall duilijudll Galgddl ial agall Cpa dpall auds sic

physical properties of the materials. Talgall Auilijudll ailadl) Cra s o Laa q,-'u

Which of the following is a physical property of materials?
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l Which of the following is a chemical property? ]

Oudallda o o

Akl o

IR

Susil il o

AAIAY 5 Al dalal Al 4w jaa 28



Materials have mechanical properties that can be tested to

determine the usefulness of the materials and the life of products

manufactured with these materials. The following table shows the

most important of these characteristics.

What do the letters (A) , (D) represent?

mechanical properties 4S1ilSuall Silaall

Ll

Hgall Baild yaail LayLidl (S LSl (alghy Hgall gias
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Tensile strength is a measure of the amount of tensile stress O 8 Adans auaal (Say o3 A& aga jlaBal (uliBa 4 A& 5 G
an object can withstand before it breaks. According to the il Jualy) a3 gall (s calidh L) s 1) aladialy | ey

graph below, which material is the best for the manufacture
of a product with the greatest tensile strength?

| 548

Material Evaluation Salall s

OH
1 2 3 4q

Material 33LaJl

:

LAY

1 1
(=) n_"s.Lﬂ)
Tensile Strength (MPa)
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When an aircraft company designs a new plane, they build several Bac adual gl (Basaa Byl il A aaal Ladic
planes to test it . Those test planes are evaluated and changes to Gbaatll Jlaaly G LIaY) Gl andt atig W,Lady @il

the experimental aircraft are applied as needed. Which step in the dglac Cilghi (e Lé;i cdalal) o duyjatll Bithll e

design process is represented in this procedure? Tela¥! lia uﬁ iy asa.aill
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Replace A and B in the following diagram

to clarify the classification of the material
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Which is the best model for a heterogeneous

mixture?
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carbon atom, which of the following is true
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What does the figure below represent?
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What is the atomic number of an atom Cligig w ANy (ligsl) Led 5)A (5)al) sandl La

that has 2 electrons, 3 protons, and 4 lig yigal dasyly

neutrons?
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Look at the periodic table block below for Jgaad) qa CoAll ausa Ao Bl @.ﬁ
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Khalifa found a stone in the garden and measured its size by AalY) Gub o8 dasa (bl allg ARuaal) A has Aads aag

displacement. Based on the data in the following figure, if you know saall AC o cuale 13) Al Jsal ‘_,:. atlyll Ao 1alaie)

that its mass is 32 g. what is the density of the stone?
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Which of the following is a chemical property?
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Which of the following is not a characteristic of the solid substance? fdalall Balall Lalsd (oo gl (s Laa ‘53
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Which of the following describes the formation of a precipitate? oy yia Bala &S0 Chea b Laa ﬁi
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Which of the following are Not the result

of a chemical reaction ?
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How are the particles of a gas different Q}Mi dalall Cilaswa (O AGAY) dag La
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Which of the following increases the solubility of a gas in a liquid?
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